Margaret Matchett
Week 4
12 March 2009

7th Grade Math (on level)
Modeling Integers – Number Line, Subtraction

Subtraction Warm-up – Day 1
Our football team receives the first kick-off of the game on our 45 yard line and the receiver is forced back 7 yards before he is eventually run out of bounds.  Where is the line of scrimmage (where our receiver was forced out of bounds)?
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          Number line for overhead
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Subtraction problems to model with the human number line:
1) 6 – (-2) = 



2) 6 – (+2)  = 



3) -1 – (+3) = 

4) -1 – (-3) = 



5) -3 – (+4) =



6) -3 – (-4) = 

Subtraction problems to model on the overhead number line:

1) -12 –(-16) -15 = 


2) 15 – 2 – (-7) = 


3) -3 – (-3) -12 = 
Combination problems to model on the overhead number line:

1) -12 + (-4) – 3 = 


2) -12 – (-4) + 3 = 


3) -7 + 10 – (-3)

VOCABULARY
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Warm-up – Day 2

Between which two consecutive (one right after another) whole numbers is each mixed number located on a number line?   Plot each mixed number on the number line.
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1)  [image: image7.png]


  is between _______   and ________

2)  [image: image9.png]


  is between _______ and ________

3)  [image: image11.png]


  is between _______ and ________

Now label  ½, 1½, 2½, 3½  below the number line (between the integers).  Between which integer and integer and ½ is each of the mixed numbers located?
1)  [image: image13.png]


  is between _______   and ________

2)  [image: image15.png]


  is between _______ and ________

3)  [image: image17.png]


  is between _______ and ________

Subtraction Worksheet – Day 2
Write an integer for each situation:

1)  Losing $35.00 _________

2) Finding $25.00 ________________

3)  20° below zero ________

4) Climbing a 1200 foot cliff (without falling) _____________

Evaluate each expression:

1)  |-5|=  ___________

2) |-5| - 3 = ______________

3)  |-5| - (-5) = ___________

4)  |-4| = ___________

5) |-3| = _____________

6) |-4| - |-3| = ___________

7)  -5 - (-2) = _____________

8) 12 - 3 = ______________

9) -24 - 24 = _____________

10) 100 – (-50) = ____________
11))  -6 - 10 = _____________
12) 10 – (-3) = ____________

Evaluate each expression if a = 7, b = -5, and c = 3:

1) a – (-4)  = ______ - (-4) = ___________

2) b - 12 = _____ - 12 = __________

3) -10 - c = -10 - ______ = __________

4) b – (-7) = ______ - (-7) = __________

5) a - 0 = ______ - 0 = _________


6) b - a = _______ - _______  = __________

7) c - a = _______ - ________ = ________

8) a - b - c = ______ - ______ - ______ = _______

Write an expression and the solve the following story problems:

1)  Tom Hanks had to gain 30 pounds to act in the movie “Castaway”.  During the filming of the movie he then had to lose 45 pounds.  What was his total weight change?

2) The roller coaster at Six Flags is very exciting.  First it carries everyone up 100 meters, then it corkscrews down 72 meters before climbing back up 48 meters before the final drop.  How far up are the riders right before the final drop?

Warm Up – Day 3

See how many of the following problems you can complete in 2 minutes – the winner gets a prize!

1)  -3 - 16 =  _________

2) -23 - 17 = ____________

3)  12 – (-1) = ____________

4) 12 – (-13) = _________

5) 81 – (-72) = ____________

6) 11 – (-7) = _____________

7) 10 - 20 = __________

8) -22 – (-2) = ____________

9) -11 – (12) = ____________

Day 3 worksheet – TAKS practice problems.

Day 4 – Test Review Questions for snowball fight
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